T-Maxx: TRX 2.5 (Model 4910) Parts List

Parts shown in bold are optional accessories. Part categories and individual part listings are arranged alphabetically. Prices are shown in US Dollars.

5262 Air filter and pre-filter inserts, foam (high-volume) (3) (pre-
oiled, assembled) (TRX 2.5, 2.5R, 3.3)....
Air filter body (high-volume)/ filter support/ cap/ foam filter,
pre-filter/ T-Maxx filter base (angled)/wire mount/hardware (1
each) (Fits Maxx trucks) (TRX 2.5, 2.5R, 3.3)
Air filter housing/ foam insert/ straight base/ angled base/ cable

tie (1-each) (TRX 2.5, 2.5R, 3.3)....cciiriiiiciee e
Air filter inserts, foam (3) (pre-oiled) (TRX 2.5, 2.5R, 3.3) .
(@ 1 IR= 1 o 11 =Y Y

Bearings & Bushings
Ball bearing (1)(10XTOXEMM)....cuviiiiiiieiiieiee s
Ball bearings (10x15x4mm) (2)
Ball bearings (5x10x4mm) (2)
Ball bearings (5x11x4mm) (2)
Ball bearings (5x8x2.5mm) (2) ......
Ball bearings (6x12x4mm) (2) .......cocveeieeeieeneennnen.
Ball bearings, blue rubber sealed (10x15x4mm) (2).
Ball bearings, blue rubber sealed (5x10x4mm) (2) ..
Ball bearings, blue rubber sealed (5x11x4mm) (2) ...
Ball bearings, blue rubber sealed (5x8x2.5mm) (2) ..
Ball bearings, blue rubber sealed (6x12x4mm) (2)
Bellcrank bushings (plastic) (5x8x2.5mm) (4

Body & Accessories

$10.00

5267

5260

5261
5263

4889
4612
4609
4611
2728
4614
5119
5115
5116
5114
5117
2545

1926 Antenna caps, vinyl (2)/ antenna Spool...........ccceecerierniniiniinnnns $2.00
5526  Antenna crimp nut, aluminum (blue-anodized)/ antenna nut tools... $4.00
5526R Antenna crimp nut, aluminum (red-anodized)/ antenna nut

tOOIS....icrrcrctre e $4.00
1726  Antenna, tube (1)/ vinyl antenna cap (1)/ wire retainer (1)............... $1.00
3170 Battery holder, 4-cell/ on-off switch ....... $5.00
1834 Body clips (12) (standard size).... $2.00
3934 Body clips, heavy duty (12) $3.00
4914R Body mount posts, front (2)/ body mount, rear/ body mount screw

PINS (4) ittt ettt $6.00
1815 Body washers (8) ........ $2.00
4915 Body washers, foam adhesive (10)........cccceeiieriiinieniee s $2.00
4911 Body, T-Maxx (Clear, requires painting) $20.00
49166 Body, T-Maxx (USHRA Special Edition) (Blue)/decal sheet (2).. $34.99
49162 Body, T-Maxx (USHRA Special Edition) (Red)/decal sheet (2)... $34.99
49165 Body, T-Maxx (USHRA Special Edition) (Silver)/decal

sheet (2) cooeceerereeceererereeens $34.99
4911X Body, T-Maxx, ProGraphix (replacement for the painted

flames body. Graphics are painted, requires paint & final

color application.) ......cccceoreeercenerree e $34.99
4926X Body, T-Maxx, ProGraphix (replacement for the T-Maxx 2.5

painted body. Graphics are printed, requires paint & final color

application)/ decal Sheet ..........ccooiiiiiiiiiie e
4913X Decal sheet, Jaws T-MaxXX........cceeeeeevvmeereeennns
2514 Decal sheet, racing sponsors
4913 Decal sheet, T-Maxx (use with 4911X body)
4912 Disruptor body for nitro Maxx trucks (custom painted and

trimmed)......ccoeeeeriereeeee $34.99
9950 Official Team Traxxas racing decal set (flag logo/ 6-color) ....... $4.50

Brake Components

4966 Brake adapter, hex aluminum (blU€).........cccooveiiiiiieiiiiiiee s $4.75
4966X Brake adapter, hex aluminum (blue) (use with HD shafts)............... $4.75
4967 Brake cam (blue)/ cam lever/ 3mm set screw
4964 Brake diSC .......c.couiiiiiiiiiiiiece e

Brake pads (2)/ brake

Bumpers & Skidplates
Bumper mounts, front (1&r)/ bumper mounts, rear (1&r)/ 3x12mm
RHM screws (8)
Bumpers, 6061-T6, brushed aluminum (f&r) ..
Bumpers, satin finished (f&r)
Skid plate, transmission, T6 aluminum (blue)
Skidplate, front plastic (black)/ stainless steel plate..
Skidplate, front plastic (grey)/ stainless steel plate
Skidplate, rear plastic (black)/ stainless steel plate
Skidplate, rear plastic (grey)/ stainless steel

4936

4935X
4935
4947X
4937
4937A
4938
4938A

Chassis & Attachments

3170 Battery holder, 4-cell/ on-off SWitCh ...........ocoiiiiiiiiiie $5.00
4925X Box, battery (grey)/ adhesive foam chassis pad/charge jack
PIUG (TUDDEI) ...ttt $4.75

For assistance call 1-888-TRAXXAS, or e-mail Traxxas anytime at support@Traxxas.com

4925 Box, battery/ adhesive foam ch
5159 Box, receiver (upper and lower halves)/ clip (1)/ foam pad
4923 Chassis braces, lower (2) (black)
4923A Chassis braces, IoOWEr (2) (Grey) ....ccueeerueereerieeeiieiieerieesee s
4923X Chassis braces, lower machined 6061-T6
aluminum (blue) (2)/ hardware......
Chassis, 6061-T6 aluminum (4.0mm) (blue) (standard
replacement for all MaxX SErES) ........ccoveerierieenieiiee e
Chassis, 7075-T6 billet machined aluminum (4mm) (blue)/

hardware
Skid plate, transmission, T6 aluminum (blue)............cccvriuernenne
Slide carb linkage bellcrank post/ 5x8x2.5 plastic bushing (2)/

bellcrank/ 5x8x0.5 fiber washer (2)/ 3x10 WM........c.ccccvevvenrvancnnn.

Clutch & Related Parts

Ball bearings (5x10x4mm) (2) .......
Ball bearings (5x11x4mm) (2)....... -
Clutch bell, (18-tooth)/ 5x8x0.5mm fiber washer (2)/ 5mm E-
clip (requires #4609 - ball bearings, 5x10x4mm (2))...
Clutch bell, (20-tooth)/ 5x8x0.5mm fiber washer (2)/ 5mm E-

clip (requires #4611-ball bearings, 5x11x4mMmM (2)........cccceveeieennnen.
Clutch bell, (22-tooth)/ 5x8x0.5mm fiber washer (2)/ 5mm E-
clip (requires #4611-ball bearings, 5x11x4mm (2))
Clutch shoes (2)/ spring (T-Maxx/Revo/Jato/Nitro 4-Tec)
Cone, split beveled
E-clips/ C-rings
Flywheel (large, knurled for use with starter boxes).
Flywheel (N. Rustler/Sport/Stampede/T-Maxx/Revo/Jato)
Flywheel nut (TRX 2.5, 2.5R, 3.3)....ccccceiiirieiiinieneeeeseseee e
Flywheel with magnet (35mm)...... -
PTFE-coated washers, 5x8x0.5mm (20) (use with ball bearlngs)

Differential Components

Diff gear set: 13-T output gear shafts (2)/ 13-T spider gears (2)/
spider shaft (1)/ 6x10x0.5mm PTFE-coated washer (1) ..................
Housings, diff (ring side/ non-ring side) (1 each)/ pinion collar (1)...
Ring gear, 37-T/ 13-T pinion/ diff carrier/6x10x0.5mm PTFE-
coated washer (1)/ 2x8mm countersunk machine screws (4)..........
SHlICONE GrASE ...ttt
Spool (eliminates differential, use off-road only)(requires
#4981 ring gear

5122R

4922X

4947X
5167

4609
4611
4118

4120

4122

4146X
3281
1633
6542X
4142
5244
6542
1985

$2.00

4982

4980X
4981

1647
4981X

Driveline Components

4932  Axle carriers/ steering blocks (2).......ccooveiiieiiiiiiiiiieee $6.00
4928X Differential output yokes (Heavy-duty) (2)/ set screw yoke pins,

MA/T0 (2) vttt $5.00
4951X Half shafts, long (Heavy-duty) (external-splined (2) & internal-

splined (2))/ metal U-joiNtS (4) .....ooiuiiiiiiii e $8.00
4949X Half shafts, short (Heavy-duty) (external-splined (2) & internal-

splined (2))/ metal U-joiNtS (4) .....ooieiiieiiieeee e $8.00
4959 Hex wheel hubs (tall offset, 14x7.5mm) (2)/ axle

pins (2.5x12mm) (2)
4955  Pins, axle (2.5x12mm) (4)..
4953X Stub axles (Heavy-duty) (2) .
4927X Transmission output yokes (heavy-duty) (2)/ set screw yoke pins,

M4/10 (1) & MA/18.5 (1) ettt $6.00
4954 Wheel hubs, hex (2)/ axle pins (2.5x12mm) (2)......ccccevrierrreerrannns $2.50
4954R Wheel hubs, hex (steel)........ccoccirrriiiisiinrr s $3.00
4954X Wheel hubs, hex, 6061-T6 aluminum (blue) (4)/ axle

PINS (2.5X10MM) (4) ..corrriiiirrrrieree s s $20.00
5353G Wheel hubs, splined, 177mm (green-anodized) (4)/ wheel nuts,

splined, 177mm (blue-anodized) (4)/ screw pins, 4x13mm (with

threadlock) (4) ....cceeeeeeeeereerneerennes $25.00
5353A Wheel nuts, splined, 177mm (green-anodized) (4) ..........cccucu...... $10.00

Engine & Servo Mounts

Engine mount, aluminum/ 3x10 CS with washers (8)
Engine mount, machined 6061-T6 aluminum (blue) (w/
screws) (Maxx Series)
Servo mounts, steering/ shift (f&r) (black)
Servo mounts, steering/ shift (machined
aluminum) (blue) (f&r)/ machine screws (8)...
Servo mounts, steering/shift (f&r)(grey)
Servo mounts, throttle/ brake (1) (black).......cccccueiiirieiiiiiiiencnenn.
Servo mounts, throttle/ brake (machined
aluminum) (blue) (f&r)/ machine screws (8)
Servo mounts, throttle/brake (1) (Grey) ......cocceeveeiveeneeiienieeseeeenn

5160
4960X

4918
4918X

4918A
4919
4919X

4919A

REV. 121217 1328



Page 2 T-Maxx: TRX 2.5 (Model 4910) Parts List

5237

3232
3232X
5227
5211R

5277
5170
4091

3155
5296
3296
4085
5146
5140

5256
5246

5142

4942

51562
5487

5280
5281
5273
5270R

5276
5148
5275

4581
4581X
5279
5211R

5169
5282

2578
5277

4934
4934X
4932
2728
2545
4944

3930
4930R
4930X

5134
4933
4933X

1942

2742
2742X
3744
2055
4917R
4943

Cooling head, PowerTune (machined aluminum, blue-
anodized) (TRX 2.5 and 2.5R)/ head protector (plastic)
Glow plug, super-duty (long medium)/ gasket.
Glow plug, super-duty (long-medium)/gasket ....
Head protector, cooling head (2) (TRX 2.5, 2.5R) ....
Roller clutch/ 6x8x0.5 TW (1) (also called one-way bearing) (TRX

2.5, 2.5R, B.3) i e
Shaft, starter (TRX 2.5, 2.5R, 3.3)

Starter, recoil (complete with screws) (TRX 2.5, 2.5R, 3.3) ........
Temp gauge, blue (On-board engine tuning aid, digital LCD
readout, new style with max. temp. memory)........cccecevvevriuernnnns $27.75

Cable ties, medium (black) (6)
Fitting, inlet for pipe pressure (90-degree)(1)....
Fittings, inlet (nipple) for fuel or water cooling (2) ..
Hanger wire, universal (6-inches, cut and bend to suit)....
Hanger, metal (T-Maxx/S-Maxx) (TRX 2.5, 2.5R)
Header, aluminum (T-Maxx) (for rear exhaust engines only) (TRX
2.5, 2.8R, B.3) i e
O-ring, header 12.2x1mm (TRX 2.5, 2.5R, 3.3)
Pipe coupler, molded (for use with pipes 5152 (T-Maxx) &
4452R) (TRX 2.5, 2.5R, 3.3) ettt
Screws, 3x15mm cap-head machine (hex drive) (with split and

flat Washers) (B) .....c..eoiieieeiie e
Tuned pipe, high performance (aluminum) (blue-anodized)/
pipe hanger/ screws/ nuts (requires #4941)
Tuned pipe, plastic (TRX 2.5, 2.5R, 3.3)
Tuned pipe, Resonator, R.0.A.R. legal (aluminum, double-
chamber) (fits Maxx vehicles with TRX Racing Engines

EZ Start 2 & Related parts

Connector, wiring harness (EZ-Start and EZ-Start 2) ......................
Control box (complete) (EZ-Start 2).........ccceveeiieiiieiie e
Control box battery cover w/ belt clip (EZ-Start 2) .
Cush-drive elements (4) (EZ-Start 2) ..........cccceeveene
EZ-Start 2, complete system with controller, drive unit, wiring
harness

Gear set (complete) (EZ-Start 2).........cccoeiieiieiiiiiieieereeee s $9.00
Grease, White [IHhiUm .........c.ooieiiee e $3.00
Housing set (inner, outer)/ 3x12mmBCS (5)/ 3x20BCS (1)/ motor

bushing (EZ-Start 2)........cccceiiiiiieii e 7.50
Lead wire, glow plug (blue) (EZ-Start and EZ-Start 2)..................... $1.75

Lead wire, glow plug (blue) (EZ-Start and EZ-Start 2)/ molex

pin extractor (use where glow plug wire does not have bullet
connector)
Motor/ pinion gear/ motor bushing (EZ-Start 2)
Roller clutch/ 6x8x0.5 TW (1) (also called one-way bearing) (TRX

2.5, 2.8R, 3.3 i e $22.50
Screws, 2.6x8mm countersunk maching (6).........c.cccoveviieennnieenns $2.00
Screws, 3x12mm button-head machine (6) (starter attachment

SCrews With Threadlock).........c.ceeveieeirieieiiieeeiee e $3.00

Screws, 3x12mm button-head machine (hex drive) (6) ...................
Shaft, starter (TRX 2.5, 2.5R, 3.3

Front Suspension & Steering

Aluminum caps, pivot ball (4) $7.00
Aluminum caps, pivot ball (blue-anodized) (4) $9.00
Axle carriers/ steering blocks (2) $6.00
Ball bearings (5x8x2.5mm) (2) $8.00
Bellcrank bushings (plastic) (5x8x2.5mMm) (4).......cccccoeeerieninenereneererennens $3.00
Bellcrank posts, aluminum (2)/ steering link threaded rod (3x25mm)/

long rod ends (2) $7.00
Bulkhead cross braces (2)/ 3x25mm CS screws (8) $3.50
Bulkheads (I & r) (front) (grey) $8.00
Bulkheads, front (machined 6061-T6

aluminum) (blue) (1&r) (requires use of 4939X suspension pins)..... $75.00
Caster spacers (4)/ ShIMS (4)....c.c.ceieieeiereereireeree e $3.00
Pivot balls (4)/ pivot ball cap bushings (4) ... $6.00
Pivot balls, hard-anodized 7075-T6 aluminum (4)/ pivot ball cap

bushings (4) $20.00
Rod ends (16 long & 4 short)/ hollow ball connectors (18)/ ball

screws (2) $7.00
Rod ends, long (6)/ hollow ball connectors (6).. $4.00
Rod ends, short (6)/ hollow balls (6) $4.00
Servo saver w/ adapters... $4.00
Servo, high-torque ............ $28.00
Shock tower (for rectangular body posts)...... .. $5.00
Steering bellcranks (2)/ bellcrank bushings (5x8x2.5mm) (4)/ bellcrank

post spacers (2)/ draglink/ 3x8mm shoulder SCrews (2)..........ccccoceenuenae $5.00

5132R
5131R
5138

3147X
4948
4958

3149A

5001
3232
3232X
5148
5263
5001R

5060
5010
5070
5020
5080
5030

3642
1834
3934
1633
5477
5478
3980
5476X
5475
4147X

1942

2742
2742X
5169
2562
3159

5282

2578
5142

4897

5299
4999X

3065

2914
3037
2919

2921

6510

2010
6536

3031

3032
2215
2218X
6521
2052
2053
2070
2075

Suspension arms (lower) (2) (fits all Maxx series)
Suspension arms (upper) (2) (fits all Maxx series)...
Turnbuckles, 106mm (front tie rods) (2) (includes installed rod ends
and hollow ball connectors)

Fuel Tank & Line

Fuel line (610mMm OF 2ft)........coiiiiiieiiereeeie e
Fuel Tank (125CC) ....couuiiiieiiieiieeie et e
Fuel tank rebuild kit (contains cap, foam washer, o-ring,

upper/lowerretainers, screw, spring and screw pin)...
Heat shield tubing, fiberglass (2) (black)...

Fuel, Cleaners & Supplies

Bottle, fuel filler (500cc)
Glow plug, super-duty (long medium)/ gasket ....
Glow plug, super-duty (long-medium)/gasket
Grease, white lithium
Qil, air filter..... ..
Rebuild kit, fuel filler bottle (includes bottle lid (1) and dispensing

tube caps, rubber (2) (fits 8mm or 5/16" dispensing tube))
Top Fuel, 10% nitro (gallon)
Top Fuel, 10% nitro (quart)
Top Fuel, 20% nitro (gallon)
Top Fuel, 20% nitro (quart)
Top Fuel, 33% nitro (gallon)
Top Fuel, 33% nitro (quart

Attachment screws, shock (3x12mm shoulder screws) (6)
Body clips (12) (standard size) ....
Body clips, heavy duty (12)...
E-clips/ C-rings......cccceeuvrueene
Flat wrench, 5mm (blue-anodized aluminum)..
Flat wrench, 8mm (blue-anodized aluminum)..
Glow plug wrench (universal wrench).........
Hex wrenches; 1.5mm, 2mm, 2.5mm, 3mm, 2.5 ball....
MUIti-toO] (PIASHIC)....ceiueieeieeie et
Nuts, 5mm flanged nylon locking (aluminum, blue-

anodized) (4)......
Rod ends (16 long & 4 short)/ hollow ball connectors (18)/ ball
screws (2)
Rod ends, long (6)/ hollow ball connectors (6).
Rod ends, short (6)/ hollow balls (6) ..
Screws, 2.6x8mm countersunk machine (6)
Screws, 2.6x8mm roundhead machine (6)
Screws, 3x10mm caphead machine (hex drive) (6)/

lockwashers (6)/ hex Wrench ..........c.ccoooiiiiiiiiiiiiie e $2.75
Screws, 3x12mm button-head machine (6) (starter attachment

screws With Threadlock) .........c.cevveiiuirieieiiieceeeieeeee e $3.00
Screws, 3x12mm button-head machine (hex drive) (6) ................... $2.50
Screws, 3x15mm cap-head machine (hex drive) (with split and

flat WAShErs) (B) ......cviueiieeiiieieeieierie ettt $2.75
Screws, set (grub) 4mm (6) (with threadlock)..................ccoeeennnn... $3.00

Engine Manual, TRX 2.5.......cooiiiiiieiieeieee e
Owner's Manual, T-Maxx

Adapter, Traxxas connector female to Traxxas receiver

battery pack (for charging) (1) ....cccccvvmrrernimniesrer s $5.00
Battery, Power Cell AA Alkaline (4) $3.99
Battery, RX Power Pack (5-cell hump style, NiMH, 1200mAh) .. $30.00
Battery, Series 1 Power Cell 1500mAh (NiMH, 6-C flat, 7.2V,

SUD=C).nt e $15.25
Charger, A/C, 350 mA (6 cell, NiMH) (includes adapters for

Traxxas connector and Futaba plug) .........ccceeiiiiiieniieciceeen, $15.00

Docking base, TQi 2.4 GHz

transmitter (iPod/iPhone) (requires TQi radio system, part
#6508, 6509).......
Gear set (for 2018 servos)....
Mounts, RPM sensor (nitro engines)/ 3x10mm CS with split

and flat Washers (2) .......coceoeeornrnercrree e ene e $4.00
Power adapter, AC (for TRX Power Charger) (switching type,

auto power input selection 100-240VAC 50-60 HZ) .................... $19.00
Power adapter, DC (12V car adapter for TRX Power Charger).. $7.50
Receiver, 3-Channel...........ccoooieeoeeeeeeeeeeeee e $30.00
Receiver, micro TQ 2.4 GHz with Traxxas Link (5-channel)....... $45.00

Sensor, temperature and voltage (long)
Servo case (for 2055 SErV0)........coveiiiiiiiiiiieee e
Servo gears (for 2055, 2056 SEIVOS) ........cccueeiueiriiieiieeiee e
Servo, digital high-torque (ball bearing)
Servo, digital high-torque (ball bearing), waterproof

REV.

121217 1328



Page 3 T-Maxx: TRX 2.5 (Model 4910) Parts List

2055
2056
6544

6540
6508

6507

2240

2225
3030X

3034

4910

4934
4934X
4932
3930
4929R
4929X

5134
4933
4933X

4917R
5132R
5131R
4956
5139

2666
2662

4962

2669

1942

2742X
3962
2667
2362
2656T

2656
1765
1666
2668

4649R

3642
3766A
1942

2742X
3767
2667
3767A
3767G
3767X

2362

Servo, high-torque 2656T Shock shafts, hardened steel, titanium nitride coated (xx-

Servo, high-torque, waterproof (blue case).... 10T ) Y $10.00
Spacers (4)/ grip pads (3)/connector dust cover (1) (for TQi 2656 Shock shafts, steel, chrome finish (xx-10nNg) (2)......ccoveereeriieniennnen. $3.00
docking base) ........ucceermiiniiner e ——— $4.00 1765 Silicone diaphragms (4)

Telemetry trigger magnet, 5X2mm (1).....ccccoveeevriniieiniennnns $2.00 1666 Silicone shock oil (30 wt) ... . .
TQi 2.4 GHz High Output radio system, 4-channel (4-ch. 3769 Spring pre-load spacers: 1mm (4)/ 2mm (2)/ 4mm (2)/ 8mm (2) ..... $4.00
transmitter & 5-Ch. reCeiVer) ..o $150.00 3768 Spring retainers, upper & lower (2)/ piston head set (2-hole (2)/ 3-
TQi 2.4 GHz High Output radio system, 4-channel with NOIE (2)). ettt
docking station (4-ch transmitter, 5-ch micro receiver, 4957R Springs, progressive rate (for Ultra-Shocks
[ [eed T3 Yo =3 1) ) IS $200.00 only) (progressive rate) (fir) (4)
Transmitter, TQ 2.4GHz High Output with Traxxas Link, 4- 4957  Springs, red (for Ultra Shocks only) (2.5 rate) (f/r) (2)
channel high output (transmitter only) $115.00 3762 Ultra Shocks (black) (xx-long) (complete w/ spring pre-load
Transmitter, TQ-3 (3-channel) (Transmitter only) $60.00 spacers & springs) (rear) (2) ......coceeeeeseereeresserseseesenns $18.00
TRX Power Charger, 1A, peak detecting/ AC adapter (for 3762A Ultra Shocks (grey) (xx-long) (complete w/ spring pre-load
charging NiCad or NiMH 5-cell receiver packs and 6- spacers & Springs) (rear) (2) ......coooovoveeerveiieeieeeeeeeeeeeeeenes $18.00
:(;I‘:IEZ)ZV)EZ start packs) (Includes plug adapterfor 72V . s"nner GIIIIGII Gomllllnems
Wiring harness for RX Power Pack, Traxxas nitro 4992 Drive gear, two-speed (17/22-teeth)/ slipper shaft
vehicles (includes on/off switch and charge jack)...................... $5.00 4685 Friction pegs, slipper (12)
4992X Input shaft, transmission (slipper shaft, T-Maxx Torque

Heallv-'l'll-llal:e Model Cc':ntrol Slipper Upgrade Iéit) F()f'i)ts first generation T-?naxx

T-Maxx Classic: 1/10-Scale Nitro-Powered 4WD Maxx Monster transmission w/o Optidrive)

TTUCK e e e e e e e e e e e e as $715.00 4625 Pressure plate, slipper (1)........cooooveee....

Rear S“snen n 4622 Pressure rings, slipper (notched) (2)..
5352R Rebuild kit (heavy duty), slipper clutch (steel disc/ aluminum

Alumlpum caps, p|v.ot ball (4)..ccccccvvrene o $7.00 friction pads (3)/ spring, Revo (1)! spring, Maxx (1)/ 2x9.8mm
Aluminum caps, pivot ball (blue-anodized) (4) $9.00 pin/ 5x8mm MW/ 5.0mm NL (1)/ 4.0mm NL (1)) correoerrrrsrorerrrre $9.50
gxllihcar(rjlers/ stierlng blc2)c/k§ (225) ....... ng $g(5)8 4615  Slipper clutch set (complete)
Bulkhead crloz‘s races (2)/ 3x25mm screws (8). 28.00 1994  Slipper tension spring/ spur gear bushing & locknut..

ulkheads (I & r) (rear) (.grey) .......................................................... . 4472R Spur gear, 72-tooth (0.8 metric pitch, compatible with 32-
Bulkheads, rear (machined 6061-T6 P Y $3.00
al_umlnum) (blue)(1&r) (requires use of 4939X suspension 5351X T-Maxx Torque Control Slipper Upgrade Kit (fits first
pins) N generation T-Maxx transmission, w/o Optidrive) (patent
Caster spacers (4)/ ShiMS (4).....coouiiiierieeieiee e . PENGING) e eerrereeeesssseeeeemeseassseesseeessmnssssseseeessssesssesseeesssmsssssesseeeses $25.00
Pivot balls (4)/ pivot ball cap bushings (4).... . —_
Pivot balls, hard-anodized 7075-T6 aluminum (4)/ pivot ball Spur Gears & Pinion Gears
cap bushings (4).....ccceceerienerninncsencnnnens . 4470 Spur gear (70-Tooth) (32-Pitch) w/bushing .... X

4472  Spur gear (72-Tooth) (32-pitch) w/bushing

Shock tower (for rectangular body posts)

Suspension arms (lower) (2) (fits all Maxx series) H

Suspension arms (upper) (2) (fits all Maxx series) . 8lee"ng cnmnonenls

Tie bar, rear (1) /3x18mm BCS (2) (fits all Maxx trucks) ... $3.00 2728 Ball bearings (5x8X2.5MM) (2) coovvvvrrvvesisesrrerrriirenniineees $8.00

Turnbuckles, 116mm (rear toe control Iinks) (2) (includes installed 2545 Bellcrank bushlngs (plastlc) (5x8x2.5mm) (4) .................................. $3.00

rod ends and hollow ball CONNECLOrS)..............c..cooveoveervrererr.. $9.00 4944 Bedllgagl; pOS)t;si alumir&um é%é;)teering link threaded §7.00

rod (3x25mm)/ long rod €nds (2) .......ccceeveirerieinineeee e .

snocks [Pro'level nlumln“m] 1942 Rod ends (16 long & 4 short)/ hollow ball connectors (18)/ ball

Big Bore shock cylinder (XX-1ong) (1)...cccccerierremsienssennnens $8.00 screws (2) $7.00

Big Bore shocks (XX-long) (hard-anodized & PTFE-coated T6 2742 Rod ends, long (6)/ hollow ball connectors (6). $4.00

aluminum) (assembled with TiN shafts) w/o springs (rear) (2). $30.00 2742X Rod ends, short (6)/ hollow balls (6)............ $4.00

Big Bore shocks (xx-long) (hard-anodized & PTFE-coated T6 4918 Servo mounts, steering/ shift (f&r) (black).. $3.50

aluminum) (assembled) w/ red springs, TiN shafts (8 pack)...... $99.99  4918A Servo mounts, steering/shift (f&r)(grey)....

Piston head set (2-hole (2)/ 3-hole (2))/ shock mounting 3744  Servo saver w/ adapters

bushings & washers (2) (Big Bore Shocks)..........coueumseuinrennnen. $2.50 2055  SErV0, RIGN-LOrGUE .....c.oeeeeeeeeeeeee e seeeeeeeeeeeeeeeee s eeesee e

Rod ends (16 long & 4 short)/ hollow ball connectors (18)/ ball 4943  Steering bellcranks (2)/ bellcrank bushings (5x8x2.5mm) (4)/

SCIEWS (2) ..ttt et et ettt e et e et e et e s e e e beesaeeebeesaeesateanneennnesnneenn $7. bellcrank post spacers (2)/ draglink/ 3x8mm shoulder screws (2)... $5.00

Rod ends, short (6)/ hollow balls (6) .........ceoeeriieriieniiieiieenie s . 5138  Turnbuckles, 106mm (front tie rods) (2) (includes installed rod
Set (grub) screws, 3x25mm (8)/ 3mm nylon locknuts (8) ends and hollow ball CONNECLOS)............oc.cveeecevevecevrevvreeve.

Shock caps, aluminum (2)/ (Big Bore Shocks)................... Rk = =

Shock rebuild Kit (FOr 2 SHOCKS)......vvereeeeesmesreeeesmssesesmsseesesmessee } Suspension Linkage

Shock shafts, hardened steel, titanium nitride coated (xx- 3642 Attachment screws, shock (3x12mm shoulder screws) (6).............. $3.00
long) (2) 1633 E-CliPS/ C-TiNGS..o.cuiueueereeieieieicieeeieeeesteieeseeise s se e see s sennenens $2.00
Shock shafts, steel, chrome finish (xx-long) (2) 1942 Rod ends (16 long & 4 short)/ hollow ball connectors (18)/ ball

Silicone diaphragms (4) .........coveeoeueeeeeeeeeeeeeeeeeeeeeeeeeeee e . SCIEWS (2) 1.teeuteeuteeeieeeteestee et et e sttt se e e st e sabeeseesaee e eabeebeeenseebeenneenn
Silicone shock oil (30 wt) $2.00 2742 Rod ends, long (6)/ hollow ball connectors (6)....

Spring retainers, upper & lower (2)/ spring pre-load spacers: 2742X Rod ends, short (6)/ hollow balls (6)

1mm (4)/ 1.5mm (2)/ 2mm (2)/ 4mm (2)/ 8mm (2) (Big Bore 3744 Servo saver w/ adapters

Shocks) 4939X Suspension pin set, stainless steel (w/ E-clips) ...

Springs, red (for big bore shocks) (2.5 rate) (2) 4939 Suspension screw pin set (T-Maxx, E-Maxx)

5138 Turnbuckles, 106mm (front tie rods) (2) (includes installed rod
snncks “‘"“a SI“":I(SI ends and hollow ball conNNECOrs)............ccovueeieiiiiiiiiieieeeereeen $9.00
Attachment screws, shock (3x12mm shoulder screws) (6). 5139 Turnbuckles, 116mm (rear toe control links) (2) (includes installed
Body, Ultra Shock(s) (XXL) (grey) (2) ........ccocumiriiinininiiininis . rod ends and hollow ball CONNECOrS) ..............ooevvvvveeririieriiienn $9.00
Rod ends (16 long & 4 short)/ hollow ball connectors (18)/ ball
e (2) o ST . Team Traxxas ltems
Rod ends, short (6)/ hollow balls (6) .. 2514  Decal sheet, racing sponsors

Shock caps (2)/ shock bottoms (2) 6160X DVD, Maxx Power! Full Throttle Action (sleeve)...

Shock caps, aluminum (2)/ (Big Bore Shocks).......ccceeverercecrcrecns $7.00 9950 Official Team Traxxas racing decal set (flag logo/ 6-color)

Shock caps, aluminum (blue-anodized) (4) (fits all Ultra Traxxas racing banner, red & black (3x7 feet

Shocks) - - e . Thrn“le & Brake llnkage

Shock caps, aluminum (green-anodized) (4) (fits all Ultra

SIOCKS) cvvvrreeeeeeeeeeseessssssssessesessessssssssesssseessssssssesesssesssssssee $14.00 4967 Brake cam (blue)/ cam lever/ 3mm set screw.. $6.25
Shock caps, aluminum (red-anodized) (4) (fits all Ultra 3182 CoIIars,l screw (2)/ set screws, 3mm (2)....

Shocks) 3180 Rod guides (2)/ 3mm nylon locknuts (2) ...

Shock rebuild kit (for 2 shocks).... 4182  Servo horn, throttle-brake/ shift (1) .......cccoooeiieiiiiies

REV. 121217 1328



Page 4 T-Maxx: TRX 2.5 (Model 4910) Parts List

5167  Slide carb linkage bellcrank post/ 5x8x2.5 plastic bushing (2)/
bellcrank/ 5x8x0.5 fiber washer (2)/ 3x10 WM ........ccccoeeiienicnninnnns
5168 Slide carb linkage set (throttle link, brake link, and hardware).........
3184  Springs: throttle/brake/shift (3).......cccoceeiiiiiiiiii e
4968 Wires: brake, throttle, shift/ servo horns: throttle, brake & shift;

ball screw and ball cup (shift shaft) ............cccceeviiiiiiiiiiiiiiiies

Tires & Wheels

4971 Foam inserts, tire (2).......cccocerimrimrnesninisr s
4959 Hex wheel hubs (tall offset, 14x7.5mm) (2)/ axle
pins (2.5x12mm) (2)
4147X Nuts, 5mm flanged nylon locking (aluminum, blue-
anodized) (4) .....ccooerrerrrerrr e ———
4955  Pins, axle (2.5X12MmM) (4) c..eiiiiiieie et
5666 Sidewall protector, beadlock style (blue) (2)/ 2.5x8mm
CS (24) (for use with Geode wheels)......
5664 Sidewall protector, beadlock style (green) (2)/ 2.5x8mm
CS (24) (for use with Geode wheels)......
5667 Sidewall protector, beadlock style (red) (2)/ 2.5x8mm
CS (24) (for use with Geode wheels)......
5665 Sidewall protector, beadlock style (yellow) (2)/ 2.5x8mm
CS (24) (for use with Geode wheels)......
3972X Sport Wheels, Maxx (mirror chrome finish) (2) .......ccccoeoviiennenne
3972 Sport Wheels, Maxx (satin-finish) (2) .....
3970R SportTraxx knobby racing tires for Maxx trucks (2)...........cecuc...
3970 SportTraxx tires, medium compound (1 pair) (tires only)..........
5374X Tires & wheels, assembled, glued (Gemini black chrome
wheels, Talon tires, foam inserts) (2) (use with 17mm splined
wheel hubs & nuts, part #5353X)........ccceecerrininenssnnns
5374 Tires & wheels, assembled, glued (Gemini chrome wheels,
Talon tires, foam inserts) (2) (also fits Maxx series).........cceceruee
5674 Tires & wheels, assembled, glued (Geode chrome wheels,
Maxx tires (6.3" outer diameter), foam inserts) (2) (use with
17mm splined wheel hubs & nuts, part #5353X & beadlock-
style sidewall protectors, part #5665, 5666, 5667) .....................
4973R Tires & wheels, assembled, glued (Hurricane chrome wheels,
Maxx tires (6.3" outer diameter), foam inserts) (2) (fits
RevO/MaxX Seri€s)......cccuurrrerrserisnnsssnesnns
5174A Tires & wheels, assembled, glued (Split-Spoke satin-finish
wheels, Talon tires, foam inserts) (2) (fits Maxx w/sealed
pivot ball suspension & ReVO).........ccccceermininnssssse e
4983A Tires & wheels, assembled, glued (SS (Split Spoke) black
chrome wheels, Maxx tires (6.3" outer diameter), foam
inserts) (2) (fits Maxx/ReVO SEries)........cceutrrrerrrerrirrsseessieessessiens
5173 Tires & wheels, assembled, glued (SS (Split Spoke) chrome
wheels, Maxx tires, foam inserts) (2) (fits Maxx/Revo series)..........
5174 Tires & wheels, assembled, glued (SS (Split Spoke) chrome
wheels, Talon tires, foam inserts) (2) (fits Maxx/Revo series)...
5174R Tires & wheels, assembled, glued (SS (Split Spoke) chrome
wheels, Talon tires, foam inserts) (2) (use w/17mm splined
wheel hubs & nuts, part #5353X)........ccceeeerrininenrinnns
5375R Tires & wheels, assembled, glued (white dished 3.8" wheels,
Response Pro tires, foam inserts) (2) (use with 17mm splined
wheel hubs and wheel nuts, part #5353X) ........ccccccvrieriiiniennnnenns
4970 Tires, 3.2" MaxX Series (2) .....cccuverrrerrimisserrss s ssee e
5670 Tires, Canyon AT 3.8" (2)/ foam inserts (2)........cccccvvvrrrnrrennnnnns
4973 Tires, Maxx 3.8" (6.3" outer diameter (160mm)) (2) (fits
ReVvO/MaxX Seri€s)......cccuvrrrerrsurssunsssnnsnns
5171  Tires, Maxx Chevron 3.8" (2) (fits Revo/Maxx series)
5375 Tires, Response Pro 3.8" (soft-compound, narrow profile,
short knobby design)/ foam inserts (2)........cccccvvmiierniniieniinnns
5471 Tires, Response racing 3.8" (soft-compound, narrow profile,
short knobby design)/ foam inserts (2)
5470 Tires, SportTraxx racing 3.8" (soft compound, directional and
asymmetrical tread design)/ foam inserts (2).........cccceccvieirennnns
5370 Tires, Talon 3.8" (2)/ foam inserts (2).....
4954 Wheel hubs, hex (2)/ axle pins (2.5x12mm) (2).......ccccvrierrieernnenns
4954R Wheel hubs, hex (steel).........
4954X Wheel hubs, hex, 6061-T6 aluminum (blue) (4)/ axle
PINS (2.5X10MM) (4)..coieiririierrr i snes
5353X Wheel hubs, splined, 177mm (blue-anodized) (4)/ wheel nuts,
splined, 17mm (blue-anodized) (4)/ screw pins, 4x13mm (with
Threadlock) (4) ..oovee e
5353G Wheel hubs, splined, 177mm (green-anodized) (4)/ wheel nuts,
splined, 177mm (blue-anodized) (4)/ screw pins, 4x13mm (with
threadlock) (4) ....cooverieiriir e
5353R Wheel hubs, splined, 177mm (red-anodized) (4)/ wheel nuts,
splined, 177mm (red-anodized) (4)/ screw pins, 4x13mm (with
threadlock) (4) ....ccoeevverriniiesiennnns
5353 Wheel nuts, splined, 17mm (blue-anodized) (4) .........
5353A Wheel nuts, splined, 177mm (green-anodized) (4)
5371 Wheels, dished 3.8" (white) (2) (use with 17mm splined wheel
hubs and wheel nuts, part #5353X) ...
5372A Wheels, Gemini 3.8" (black chrome) (2)

$41.00

$39.00

$39.00

5372X

5372
5671

5373
4972
5172A

5172X

5172R

5172
4972X

4990
4992
4988

4994X
4993
4994R

4991
4996

4997
4998
4994
4995

3982
5352R

4989
1647
5193X

4985
3981

1942

2742
2742X
5138

5139

4889
4992
4988

4986
4987
4897
4985
4984

Wheels, Gemini 3.8" (black chrome) (2) (use with 17mm
splined wheel hubs & nuts, part #5353X)
Wheels, Gemini 3.8" (chrome) (2) (also fits Maxx series) ....
Wheels, Geode 3.8" (chrome) (2) (use with 17mm splined

wheel hubs & nuts, part #5353X & beadlock-style sidewall

... $12.00
. $11.00

protectors, part #5665, 5666, 5667) $12.00
Wheels, Hurricane 3.8" (chrome) (2) (also fits Maxx series)...... $11.00
Wheels, satin finished 3.2" (2) ......cccciriirriinniinseneseeneeseenens $9.00
Wheels, SS (split spoke) 3.8" (black chrome) (2) (use with

17mm splined wheel hubs & nuts, part #5353X) (fits

REVO/MaXX SEFI@S)....cuerueruereeraererrersaerseesneesesseessessesesseessesnes $11.00
Wheels, SS (split spoke) 3.8" (chrome) (2) (fits Revo/Maxx

F=T=Y (=T $11.00
Wheels, SS (split spoke) 3.8" (chrome) (2) (use with 177mm

splined wheel hubs & nuts, part #5353X) (fits Revo/Maxx

F=T=Y =T $10.00
Wheels, SS (split spoke) 3.8" (satin) (2) (fits Revo/Maxx series) .... $10.00
Wheels, T-Maxx (chrome) (2) ........ $10.00

Transmission Components

Clutch bell, forward/ reverse
Drive gear, two-speed (17/22-teeth)/ slipper shaft..
Drive hub assembly, clutch/ 6x8.5x0.5mm PTFE-coated
washer (1)

Forward only shaft and gear

Gear shaft, Primary(1).......cccceeeeieerieeeeieeee e $3.00
Gear, 26-T (Replacement gear for the 4994X forward-only

=] 1| $7.00
Gearbox halves (f&r)/ rubber access plug ..........ccoeeeeviiiiieniinieee $10.00
Idler gear, steel (16-tooth)/ idler gear shaft/ 3x8mm flat metal

washer/ 8x12x0.5mm PTFE-coated washer/ 3x6mm flat metal

washer/ 3mm nylon locknut 3x20mm cap hex machine screw........ $5.00

Output gear assembly, forward (26-T)
Output gear assembly, reverse (26-T)
Output shaft (1)/ output shaft spacer (5x8x14mm)
Primary gears: forward (28-T)/ reverse (22-T)/ set screw yoke pin,
M3/12 (1)/ 5x10x0.5mm PTFE-coated washer (1)..
PTFE-coated 6x8x0.5 (10)
Rebuild kit (heavy duty), slipper clutch (steel disc/ aluminum
friction pads (3)/ spring, Revo (1)/ spring, Maxx (1)/ 2x9.8mm
pin/ 5x8mm MW/ 5.0mm NL (1)/ 4.0mm NL (1))
Shift fork-shaft/ shift fork pads (2)/ rubber shift shaft seal...
Silicone grease
Single-speed conversion kit (Eliminates two-speed

mechanism for reduced weight, less rotational mass).
Spur gear assembly, 38-T (2nd speed)
Washer, PTFE-coated 6x9.5x.5 (10

Turnbuckles & Threaded rods

Rod ends (16 long & 4 short)/ hollow ball connectors (18)/ ball
screws (2)
Rod ends, long (6)/ hollow ball connectors (6).
Rod ends, short (6)/ hollow balls (6)
Turnbuckles, 106mm (front tie rods) (2) (includes installed rod

ends and hollow ball conNNECOrs)..........cccovueeiiiriiiiiieieeeereee $9.00
Turnbuckles, 116mm (rear toe control links) (2) (includes installed
rod ends and hollow ball connectors) ................ccocoooeiiiiciin. $9.00

Two Speed Components

Ball bearing (1)(10x19x5mm)
Drive gear, two-speed (17/22-teeth)/ slipper shaﬂ..
Drive hub assembly, clutch/ 6x8.5x0.5mm PTFE-coated
washer (1)
Gear hub assembly, 1st/ one-way bearing/ snap ring
Rings, retainer (snap rings) (14mm) (2)
Screws, set (grub) 4mm (6) (with threadlock)
Spur gear assembly, 38-T (2nd speed)
Spur gear, 43-T (18t SPEE)....ccc.eiiiiiiiiie e

If you have questions or need technical assistance, call Traxxas at:
1-888-TRAXXAS
(1-888-872-9927) (U.S. residents only)

For orders, calls outside the U.S., and other information, call 972-265-8000, or
fax to 972-265-8011 e-mail Traxxas at support@Traxxas.com

TRAXXAS.comMm

REV. 121217 1328



